Bt 17 - Quick Dueetion |

twenty past five ten past one half past two

I rables

.2 + 6 = L 15-5 = 7.5+ 7 = 0. 8-3 =

2.9 + 8 = 5.8 + 7 = 8. 12-4 = 1.9 + 6 =

3. 13-4 = 6. 10-3 = 9.7 + 7 = 12. 12 -4 =

Calculate ®L

B N

.10 + 10 = 5.30-10-10 = 9.30-10-5 =

2.7 + 7 = 6. 44— |1 - Il = 10. 35-3-10 = |
3. 15+ 10 = 7.5+5+5+5= 1. +10+6=26 |
L, 25— 10 = 8.6 +4+ 0+ 10 = 12. - 10 = 34
Numbers... Write the missing numbers.

1. 35, , , 38, 39, 5. 5, 10, 15, ,

2. 89, , 87, , 85, 6. 10, , 40, 50,

3. 1,3, . 7,9, , 7. 99, 88, ; 5 98,

L. 2, , 6, \ .12 8. 90, 80, ) , 40

n Time... Draw the time on each clock.

twelve o’clock §




